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GOT ( 2.6.1.1) JIZAFAET B Y. WUEVIRIE TR, Al T A SN, S R AR AN i
EMg. UbAh, GOT fEL NI & Bk, IR E— R E WU ZEATC LA A B A A o T U 4 25 A
H M5 R EE AT T

MERIE

GOT AL o-[A/ & —FRANR MR R AR AR RN, AR ARSI 41, H LRt — 2 BT IR
AR : IEARR AT 5 2,4- RESE R SR AE BR 2,4- AR R IR, FERRTESRAE T BARLL (4 WIKE 505nm
WG RIAEL, BIWTTHEE GOT B /7 -

EASMNEAA:
A WAy YT BAR . A E . B Ol TR WS . A s tL (A /96 FLAR . BFER. UKFIZET
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RIAILE R FOECH -

PEHUR: Witk 60mLx1 i, 4°CI-7E.
A5 —: WK 2.5 mLx1 i, 4°CIRAZ;
WA e WK 2.5 mLx1 i, 4°CTRAF
WA= Wifk 25 mLx1 i, 4°CR7E;

HRAUERNES.
1. 45 4HPREALSURE S I 4%

B TR, e B B B O, B0 AR R R R (100 ¢ 2
B RL (mL) 9 500~1000: 1 LB G2l 500 7740 B4 IN A TmL $2IGH0D, 8 75 Ik A 4 4 B B4t
Ml (UK#, ThE 20% 8% 200W, #E7 3s, [AIBG 10s, H 30 %); 8000g 4°C & L» 10min, B L3, BHik L
FRl

M. HBHLFE (g) « RIURAERmMLYN 12 5~10 HE] GERENZ 0.1g H4Y, i ImL 32
B, #HATUKIH A . 8000g 4°CHE L 10min, B i, Bk LA,

2, M3 CRO FE&: BRI,

MERIER:
1. 3066 BB TR 30min PAE, AT ZE 505nm, ZBKIEE.
2. fF EP FEAE 96 FLAR A T FR 5
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b 10min [RFIFEA 10
A — 25
ZEIRK 25
BEE, 37°C (RFLEhYD 5L 25°C LB #ERI M 20min
= | 25 | 25 |
BAIE, 37°C (HFLEM) BL25°C (CHedfh) RN 20min
= | 240 | 240 |

VBAT, =i (25C) & 10min, 505nm BAALM S ERALEE A. A A=A MEE-A XRE . GNEEF

B AR .
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a AMEA AL M TEARWT

1. WRAERMETMEREAZ, yv=0.4768x-0.0013  (x NARAERIKE, umol/mL; v ¥ A A).

2. M%) GOT & it 5

BRI E S B mL MG G BG4 Inmol PIERER & SCA— MBS 715047

GOT (nmol/min/mL) = (AA+0.0013) +0.4768+Tx103=104.9x (AA+0.0013)

3. Z0f. ANEEFIZHZUR GOT & il 5

(1) $ZREARR AR5

FAALIE S B mg AU (VR AL 2E 1 nmol INERER & Sy — AR /1 AL

GOT (nmol/min/mg prot) =[ (AA+0.0013) +0.4786xV1]+(V1xCpr)=Tx10% =104.9x (AA+0.0013) ~Cpr
TS AMNE, U A ) BCA & A B S B E KA.

(2) RS E .

BANTIE S B g VR B AL Inmol TRRRER & XN — NS 715407

GOT (nmol/min/g #£ ) =[ (AA+0.0013) +0.4768xV1]+(WxV1+V2)+Tx103 =104.9x (AA+0.0013) ~W
(3) $% 418 SN L 2 FE B

BRI E S B 1 3B B A oy B AL A Inmol ARG 2 SN — AN G I B

GOT (nmol/min/10% cell) =[ (AA+0.0013) +0.4768xV1]+(500xV1+V2)=Tx103 =0.21x (AA+0.0013)

V1 JIANSNAR R FEEARME, 0.01mL; V2: MIARBUEAEE, 1mL; T: KBEE], 20min; Cpr: & A

FUAE, mg/mL; W: FEARFIE, g; 500: 40AREK4NE 240, 500 55 103 lumol/mL=103 nmol/mL.

b.AEF 96 FLARM E I THE AR :

1. WRAERMETMEREAZ, y=0.2384x-0.0013  (x NARAERIKE, umol/mL; v ¥ A A).
2. M%) GOT & it 5

BRI E S B mL MG G B EME A Inmol PIERER & SCA— NS 715047

GOT (nmol/min/mL) = (AA+0.0013) +0.2384+Tx103=209.7x (AA+0.0013)

3. Z0f. ANEEFIZHZUHR GOT & il 5

(1) $ZREARR AR5

FAALIE S B mg AU (R AL 2E 1 nmol INERER & SN — AR /1 AL

GOT (nmol/min/mg prot) =[ (AA+0.0013) +0.2384xV1]+(V1xCpr)+Tx103 =209.7x (AA+0.0013) ~Cpr
TS AN E, A ) BCA & A RS B e KA.

(2) RS E .

BANTIE S B g VR B AL Inmol TARRER & XN — NS 715407
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GOT (nmol/min/g 5 ) =[ (AA+0.0013) +0.2384xV1]+(WxV1+V2)=Tx10? =209.7x (AA+0.0013) +W
(3) 2 6 B 20 25 P

BALIYE S B 1 3G B B B A B AL AR Inmol INERRR T SN — MBS J1 5.
GOT (nmol/min/10% cell) =[ (AA+0.0013) +0.2384xV1]+(500xV1+V2)+=Tx103 =0.419x (AA+0.0013)
s AN RBAR R P REAERL, 0.01mL; V2: DIASRERBARL, 1mL; T: JNESIE, 20 min; Cpr: HH
Dﬁlﬁz)ﬁ, mg/mL; W: FEARFE, g5 500: 4UMERANE 240 500 Ji5 103 lumol/mL=103 nmol/mL.
1. ARHEMZRZMYEREIN: 0.01 umol/mL -2 umol/mL.
2. AAZMVEEDY: 0.01-1.



